TDS estimates — using average results from waste brines (with
some removal of outliers)

For Blandford area site

TDS and Electrical Conductivity

TDS - Electrical Conductivity (water conductivity)

The table stated below can be used to calculaie the TDS (tofal dissolved solids) as well as the cation and anion composition
from a water analysis. Please also use the following websile for more information.
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Difference between sum of anions and cations: [195  |=[113 ] % total amout of ions
For more than 10% you should check your analysis!
Calculate || Clear |mg/to ppm to tds to mmol to meq to EC to u$ (microSiemens)



For another site in our reqgion

TDS and Electrical Conductivity

TDS - Electrical Conductivity (water conductivity)

The table stated below can be used to calculate the TDS (tolal dissolved solids) as well as the cation and anion compaosition
from a water analysis. Please also use the following website for more information.
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For more than 10% you should check your analysis!
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